PISCINA

S:9.18m?
535
\'/ .
«
=
3 B GARAE
o $:59.74me
. 093]
A 090
3
ESCALERA
M S:2.45m2 €|
! Y
! G
|
o om0 |
~
3
N
o)
T \ <
3.23 X
] [. INSTALACIONES
N B S:4.00m
195
/
\ /
) /
A 3,65 /
\ /
\ /
\ /
\ /
'/./ /
\ /
\ /
\ /
/ / ACCESO
\tae \ §:7.95m2
\s:tessme
/ 195

1,80

[ ] 1]
L vz_o[ L] .

4 | I Car g
ﬁu mu S,mo_wﬂ m_mn_z == N
b |
ﬁu ﬁu 090 |

239 VESTIBULO
som 2

PLANTA SEMISOTANO

i 1,95
/
: Z
E
€
3
Y
5
7
SALON - COMEDOR )
S:20.65m? -
/|
2
9
< i
3
0
VESTIBULO-ENTRADA
s:3.98m
orr 175 ods
/
\ \
\ \ )
\ \ q
\ /
\ /
/
\
/
\
2
<
ACCESO
5:7.95m
195
\ ]
\ \\
\ /
\ /
\/
\
/
\ /

052 150 080 L0386, 150 053 |
DORMITORIO 2 DORMITORIO 3
S:12.65m? §:10.66 m?

o
«
2
250
290
f T —
250
— |
g |l
i o A
%M,_Mwmm N - PASILLO i
o N 5:9.904m2
Z
il
¢ . o
_ 6
= Y
1,90 Jl 1,55 ik
i
- i@
9
i
.|
2
g
9
3.42
-
<
| DORMITORIO 1
$:15.00m2
BARO 1
S:463me 3
&
E i
— 183
0.74 1.75 093

PLANTA BAJA

5,70
3
TERRAZA 8
S:8.55m?
1,90
ez 1]
$:4.83m?
N
&
[P
418
<
L
Z]
3
6
TRASTERO . )
P S:15.98 m?
5|
N 7
9|
3
g /|
« Z
il
T
6|
0
=
S
3
343 1,95
, r
t
182 |
TERRAZA -
S:14.10m2 2
570

6,00

1,95

2,85

PLANTA PRIMERA

PLANTA CASTILLETE

PLANTA CUBIERTAS




